Change the sentences into negative form.
Person + couldn’t + verb present form.
Example: Peter could ride a horse.

Peter couldn’t ride a horse.

1.Peter could swim at age of 7.

2.Sandra could run at age of 5

3.Mark could play the guitar at age of 7.

4.Lisa could use a computer at age of 9.

5.Tony could play soccer at age of 9.
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Change the negative form of the sentences.

Could + person + verb present form?
Example:
Peter could swim at age of 8.

Could Peter swim at age of 8?

1.Peter could swim at age of 7.

2.Sandra could run at age of 5

3.Mark could play the guitar at age of 7.

4.Lisa could use a computer at age of 9.

5.Tony could play soccer at age of 9.
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